F2l RELEE, 7200

(1]
A

B C
4

sin?2CAB+cos’2CAB=1 &1,

sin ZCAB=41—cos’2CAB
1\
1‘(6)
NN
[o]

THs.
RELTEHE
BC?=CA”+ AB*—2CA - AB cos ZCAB
L0, x1E2WAHER

=gt 3253 &

9
ERAY X5
x— x—7:O
R Y
In&n,

3x%—2x—21=0
Bx+7)(x—3)=0
ElBhs, x>0 &0,

THb.

—137—

@

=

0°<60<180° DEZ,

FE7H

sinf=41—cos’6.
cos ZCAB =%.
— RILETE

a*=b"+c"—2bccos A.




HEfAOEELD,
Z4ACD=2ABD, «CAD= ~CBD

THh0,
sinZABD:sin Z£CBD=3:1
&0,
sin ZABD -3
sin £CBD
ThH5.
517, AACD ICIFRSEEZ W5 &,
DA _ CD
sin ZACD  sin 2CAD
THHMH,
- ezt
- sincaBc
THhb.

AABCIKRHEEEZzHWS &,

_ BC*+AB”’—CA*
cos ZABC = 5BC.AB
_4"43°-3"
243

THY, WA ABCD EMIcAREL,
<ABCH+ £2ADC =180°

WO DP 5,
cos £ADC = cos(180°— 2 ABC)
= —cos £ZABC
—_2
3
Ths.
A
N |
B C

—138—

B ) M (O

AABCE AB=AC O0Z%iN=A
JELD, IBCOHFEEMET B,
AMLBC Thd»b,

cos ZABC = cos ZABM

- BM
AB

ERDTH L,

AICHET 2 MaTOME

0,+6,=180°.

cos(180°—8) = —cosé.



CD=y &£85<&, D&Y DA=3y THD, AACD IZRKEH
EHVD &,
CA*=CD’+DA’*—2CD-DA cos £ADC
32:y”+@yf—2y3y«-%)
2_ 9
Y=g
Lz, y>0 &0,
. 3
CD=y=——
y m
[ ]/

14
TH%b.

(2]
(1) 30 AZEBICHT 2 F9fEE,

0.3%X24+0.6x8+1.0x12+1.4%X5+2.0X3
30

_ 304
30

=1.0133--

0, [ ][0 ]css.

2 ORI, EIWHAEIZL2THY, BRDIZET

5. £-oC, [V Jccazssvon[ 0 |eas.

(3) BIERID 30 A\OWEES 21, % ) %0 &L, FHEEZ x
t@_é é:y

X1+ X2+ + X3
30

ThHY, BEBD 0 ADOTFEEE ¥ &T5&,

— (2 —=0.1) 4+ (2= 0.1) + -+ (x3—0.1)
= 30

_ X1t X+ X0 0.1x30
30 30

=x —0.1
THHD 5, OIXELLW,
R E OBEZOERII2 THD, EBRE ICB)5FHEE
i,

x =

(2.1—0.1);(2.3—01) =21>m,

LB e, FEEIEERLOEINT 5.

—139—

H7H

4 DA=3CD.

ST O 30 ADBREEDORAIT
H0, The30 TH->TLOHRD

€| rpmETss.
BRI BB TEEORAE 5 T
5T,

0.3+0.6+150+1.4+2.0 —1.06

ELTIERWIT RN,

& 3ANCETBET—ITHENE, T—
FERBEDNS VTSR & &,
5 3 WAL 23 T E OEEOHEE
ThHH. BREMEI01LAATHESNT
B, HOTKDY SHmAENSE 3 U5
A% 1.2 X ERERETH 5.

MroFT—% rRoF—%
s A A A

f !
EIMSHM 53 WA

& BEMOREMELEE, BERLIS &
2D, BHRDIET 5.

@& m.=2.0.



EoT, QIRIELL 5L,
BIERORZE
x—x (k=1,2, -, 30)
LEERDRZE
(2.—0.1) — 2" = (%, —0.1) — (x —0.1)
=x.—x (k=1,2, -, 30)

ERICTH B0 56, FEITELZL.
&7, QEIELLL.

BIEFIOHE 1 WAMEIZ, HOTRED 0.7 THY, BIEEL
1206 &%, £oC, BIERT, BE®REHIE 1 IO
B BIEL, @IZELL.

BEROE 3 WAL, FHOTRED 1.2 THY, BiEE
W11 &%s, LT, 83 WU EIERTIZME D,
BEBIERCICETA25, @IZIELL 2\,

prky, [5]) [Flrscuzsvor[ 0 )
[0 Jcsa.

(3]
BRERMDBNEAHD 0.4 L ETH - - ERDEIA 1,

PR A -+ 0,

BB - %=0.25,

. 3+l aal
B C - 2t =033,

B4R D --.%=o.4,

BARE - L —0.33.--
THY, BEHRD OEEPELE.

£o7, kKETEse0i[ 0 | tHs.

— 140 —

A, REDOFSTDOVE

(x1*;)2+ (xz‘;)z‘F vt (9530“;>2

& 30
THb.

& E1NUDAE0.7 ZERESETHS.




